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I 7 mwn: interdependence of N27p of Myaw and the onon 'nw
a  Independent: the 7 lambs, 2 rams and bull (v. 1) are independent of the nn% and vice-versa
b Disputed dependence: the two lambs (v. 3) and the on%n 'nv
i y”1 bread needed for lambs, lambs not needed for bread
ii o2 72 pwpw. lambs needed for bread; but they may be brought independently
1 Argument: 11 brought lambs in desert without bread
iii ~ ®”r navn follows o1 ja for a different reason:
1 refutation of 011 72's reason: anything mentioned in v3-n3 72TN1 was brought in desert, not 3 R1pn
2 nonetheless: the bread requires the lambs to 9'nn them; the lambs need no nn
II  xpa:analyzing v. 1
a  v”ronYn Y indicates that until they became obligated to bring nn>n 'nw these offerings weren’t brought
b y”r ®"v these are the same lambs as those in n3 927M3; but the numbers of 019 and %X aren’t the same (1/2 vs. 2/1)
i Suggerstion: perhaps the lambs (7 in both) are the same
ii  Rejection: since the bulls and rams are different, the lambs must be a different set
1 Note: we don’t consider that the bulls/rams are a choice (1/2 or 2/1) since the sequence changes 727102/87p"
iii ~ Therefore: only those in 72702 were brought before entering Land
III'  Analysis of disptue o1 j2/9™
a  y™":infers from vy (v. 3) and n»nn (re: onYn 'nw) — both onY
b 1" infers from vn and v (v. 1) — both w2
i Clarification: i and v is a preferable inference; ‘tho we accept 2wy 821 (v. 2); only when nothing is closer
ii ~ y”1 prefers inferring that which goes to 113 (205w »w13) from another (DnYn 'Mw); v. 1 are M"Y
iii ~ Alternatively: they disagree about what is “holy to the 113” in v. 3; the lambs or the bread
1 0212 the lambs are partially given to 'n and part to the 1n3; unlike the bread;
2 y~r all bread given to 'n and then given to 112
¢ jprr /7 vy™ and oin ja agree that if the lambs and bread were brought together (at nvo'nw)- both needed
i A5 in R, they asked if nonn (raising bread and lambs) “ties” them together
1 Suggestion: infer from > that it doesn’t — only nv'nw does, as that is what he mentioned
2 Defense: that is what they are asking — whether we can extend »"1’s ruling back to nann —1pmn
ii  Challenge: v. 3 is after nann, yet ™ and o1 12 disagree about implementation
1 Answer: it's also after no'nv; yet the verse must read “that which will eventually go to jn13” and foreshadows
iii ~ Challenge: nonw couldn’t generate “binding” with onY, per 12-12:n mMNn Xnaoin re the relationship between nmin
and its loaves; after nv'nw, the loaves may be invalid without invalidating the 127p
1 Answer: n1in is different; it's considered nn5w; just as Dn%w don’t require loaves, so nTIn can be valid as such
iv  Analysis (i7p7 77): if we accept the notion that nann generates np1, if the onY is lost (afterwards), the lambs are
“lost” and vice-versa
1 But: if we don’t accept that notion, if he did nann, lost the on% and brought a replacement, does the replace-
ment bread require nann
(a) Note: question only asked about bread, and only according to " that sees the onb as 1py
(i) Lemmal: since the bread is the 1p’, requires nonn OR
(ii) Lemma?2: since its nn are the lambs, no need —p'n
IV Question (X219 »aRr): why are nn5w »w1) tied to bread, but not m5y in v. 1?
a  Answerl: since they are raised together (no1n)
i Challenge: "1 isn’t raised with the 40 loaves, yet they are interdependent
b  Answer2: like nmin, which is a pn%w — also the mxy 'mbw are tied to loaves
i Challenge: in the case of nTIn, there are no other nnavp
¢ Answer3: like 111 R, where there are other offerings, yet mxn are tied to n'n%w, per v. 4
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